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1. Which of the following flower is insect pollinated?

(A) Paddy (B) Mango (C) Hydrilla (D) Bigpnia
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12.  Prothrombin is known as

(A) FactorI B) Factorl.  (C) Factorll (D) FactorIV
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13.  Choose which of the following terms is applicable for swim bladder in fish-

(A) Homologous organ ' - (B) Analogous organ |
(C) Vestigial organ ol (D) Hydrostatlc organ
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14.  Antiketogenic hormone is - , ‘
(A) Adrenaline (B) Nor adrenaline (C) Insulin : (D)"'A'Glucago’n
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15. The percentage of tall and dwarf pea plants produced in Fl generatlon due to
hybridization of two hybrid tall pea plant will be.

(A) 50%and25% (B) 25%and25%  (C) 75%and 25% (D) S50% and 50%
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(A) 50% 9 25% (B) 25% € 25% () 75% 9 25% (D) 50% e 50%
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If i
A Person goes around a square shaped park of 10 m sides once in 16 seconds, his
average speed and total displacément is

@A) 16ms,10m  (B) 25mis,40m (C) 32m/s 10m (D) 25ms,0m
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(A) 16m/s, 10m (B) 25m/s,40m (C) 32m/s, 10m (D) 2.5m/s,0m

'ed
>

34. Choose the right answer. |
Under special circumstances, a body’s
(A) mass and weight both can be zero
(B)  mass can be zero, but weight cannot be zero
(C) mass cannot be zero, but weight can be zero

(D) neither mass nor weight can be zero
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35. A 20 g bullet is fired from a gun. The bullet hits a sandbag with 100 m/s speed and stops
after 10 cm into the sand. How much stopping force was applied by the sand ?

(A) 1000N ~(B) 100N  (C) 200N (D) 500 dyne
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(A) 1000N (B) 100N (C) 200N (D) 500 dyne

36. Newton is a unit of

(A)' mass " (B) force (C) gravitation (D) electric current
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46. Observe the two italicized words in the following two sentences and give your
observation by choosing any one option below.
. A vote of censur was passed against the Chairman
Il Every film needs a clearance from the Censor Board
(A) . Only sentence-I is correct
(B) Only sentence-II is correct
(C) Both sentences I and II are correct
(D) Neither sentence I nor sentence II is correct
47. Choose the most effective word to fill in the blank to make the sentence meamngfully
complete.
‘Ashok had to drop his plan of going to the plcmc as he had certain - to keep during
that period. :
(A) urgenc1es ‘ (B) preparations L) comrnitments '(D)‘ arrangements
48. Fill in the blank with the most appropriate word/ group of words to make the sentence
: meaningfully complete. ,
Ishallnotjoin _~ youneed me. St
(A) ifnot - - B e (C) whether (D) unless
~49. Fill in the blank with the most approprlate word/ group of words to make the sentence
meaningfully complete
~ His statement is repletev v » contradlctlons : b :
(A) in By et <C) by (D) wih
50. Find out which part of the sentence has an error. :
The blinds / deserve / our sympathy /_and cooperation ;
(A) B) A R 1)
51.  Choose the word, which has nearly the same meaning as OBLIGATORY.
(A) Agreeable  (B) Required ~ (C) Stubborn (D) Useful
52. Choose the word, which is opposite in meaning to FICKLE. '
' (A) Tasty - «(B) Quick (C) Constant (D) Healthy
53. Choose the word that can replace both the words in italics in the two grven sentences.
I.  The document was declared void.
II. I felt pity for the sickly person. .
(A) Useless (B) Defective (C) Invalid (D) Weak
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